| MoNomiIos

A B C D E F G

1 X+ X X - X X —2X (3%)-(9%) | 3x*+5x° | 7x* —2x> x* - x°
2 x2 - x’ x? +x? x* -x X — 3X (8x)-(4x) | 33 +7x | 8x* —2x
3 9x* —2x* x* - x* X +x° X7+ X 2X —4x (7x)-(6x) | 3x* +3x°
4 | 3x°+x° | 3x*-2x? XX’ x* 4 x* X x 2x-5x | (7x)-(9x)
5 | (9x):(2x) | 3x* +2x* | 4x> —2% x* X x* +x° X X’ 2X — 6X
6 2X —7X (8x)-(3x) | 3x> +4x® | 5x2 —2x2 X x* X° +x° X - x®

7 X - x> 2x—8x | (7x)-(4x) | 3x>+6x° | 6x* —2x2 X2 x3 X" +x’
8 | 4x'+xt 3X+ X 2X+ X 6x> —3x* | 5x+2x x-(3x°) 8X — X
9 2x=x | 2x*+4x* | x*x* X-x2 | 7 -3 | sx+3x | xP-(2x)
10 | x2-®) | 3x=x | 3x*+4x* | Sx+x ¥ x® | 8xP=3x* | Sx+4x
11 5% +5x x-(7x2) 4% — X 4x* +4x* X+ 6X x> x’ 9x* —3x°
12 || 5x° —4x® | 5x+6x x? - (6x) Sx—x | 4x* +5x* X + 8X x° - x°
13 X8 x? 4x°* -3x° 5% +7X xz'(Sx“) 6X — X 4x* +6x* TX + X
14 X+ 4X x4 x3 5x° —3x° 5X + 8X X’ '(4X2) TX— X 7x* +4x*
15 | (2x):03x) | 2 +4x* | 5% x| 3x* =53 X x° (@x?)-(6x) (4x7)-(7%)
16 | 6x—5x (2x)- (4x) 5x242x% | 6xP x| 3x*—6x> | 8Xx—6X 9% — 6X
17 XX 7x-5x | (2¢)(5x) | 22 +6x | 7xt-x? x® - x° XX’
18 | 4x*>-7x’ x2 - x> 8x—5x | (3x)-(4x) | 2x2+7x | 3x* =7x% | 2x2 +9x2
19 3x* - x? 4x* —6x* x* - x3 9x —5x (3x)-(5x) 8x? - x* 3x* —8x*
20 | 2x* +3x? 4x-x* 3x% —4x> x*-x* 10x—-5x | 8x* +2x° 9x - X
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(SOLUCIONES)

SOL A
1
: 2X .
3 - : ;
4 7x? - ‘ D
5 4x°> x’ X B :
6 1 8X2 N 2% -2X 8x3 F
7 -5x 5%x° <5 x° 32 o :
8 'S 24x° 2x2 %7 = : :
9 : - i X %! 42x* 6x°
10 X 4x 28x> x : - 6X3
11 8x" 6x* 3x 9x° x° = e
12 : 5 XIO 3X3 4X2 2X6 -4x
13 X3 7X3 7)(4 X9 7x X7 X9
14 X9 11x 3X 6X 4X3 3X4 2X7
15 v X3 6X3 8X4 XIO 8x 7x
16 6 x° X 12x o - : 2X5
: X 6X2 2X3 5X6 9X4 X10 9x
18 X2 8x° 5x* - B . .
19 3%’ 2x 7x2 22x? 4x° 10x =
20 3x* X 10x* o - : SX
5x2 2% 3x 8x? 3x? 2 e
-X2 4x 9X2 : 12 3X
%% 15x° - I
E o 11x
10x” =
9x’
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